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ﬂh Using Unit Prices Name:

Solve each problem. Answers
1) On Monday the price for bottled water was 5 bottles for $10.90. On Saturday

the price ttles for $8.56. Which day had the higher unit price? _ M\_A —_— $ng
Mo \o q0 ‘3‘3 9 Sa\}\)ro(.ﬂ,v 5_;(,,_ $2.14 1. M Mj
\ob‘(' 5 |32 4 e $17.88

———

2) At acandy store you could get 3 giant LoHipops for $8.94. How much would it

cost to buy 6 lollipops? $84 o $\r] 83 3 $793Z.

b

— -
5\_*/2" 4. OC’+ — $4.33
t afarming supply store 7 pounds of seed cost $185.08. If afarmer needed 3
p

ounds of seeds, how much would it cost him? 3(:*(,[35‘.033 }E? 34 (é Btw,— $|§-32

$ $185.69 4$79.32
“povd \jpw\a poved s 1 s L9

Pou
4) An September a clothing store had a sale where you could get 7 scarves for
$30.10. In October the price was changed to 3 scarves for $12.99. On which

month did a scarf cost the most? $§O/_(9 :4*,_[_30 $12.99 i $L} 39

Se '\- Oc 8.
A store had 3 blue chairsfor $39.96 or 7 red chairs for $93.59. Which color

chair has alower unit price?
Blog: 43946 3332 [d I35 4555 0
)

-
10.
@An ice company charged $1.40 for 5 bags of ice. If a convenience store bought
7 bags of ice, how much would it have cost them? $ 0.28 % 7 ‘w ? b

3%\——7 @I Ul)‘l)

7) Atthetoy store yo[’-cou}d get 3 board games for $26 79. Onlinethe price for 4
board games is $35.92. Which place has the highest price for a board game?

8) At arestaurant 4 hotdogs cost $9.68 and 5 hamburgers cost $11.75. Which
food has the lower unit price?

9) A shoe store was having a back to school sale where you could buy 7 pairs of
shoesfor $71.54. If alarge family decided to buy 4 pairs of shoes, how much
would it cost them?

10) A video game store was getting rid of old games, selling them 7 for $134.19. If
they sold 5 games, how much money would they have made?
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ﬂ; Understanding Ratios Name:

Solve each problem.
1) Theratio of white chocolate to dark chocolate sold at a candy shop was 5 : 4. If there were

35 bars of white chocolate sold, ho many bars of dark c%).colat wete sold? | | i

Wh e while - W\/\-t S|

S Y s 7 Aw k 4

2) A produce store sold 45 red apples. If the ratio of red applesto green apples sold was 5 :
at isthe@mnl ned amount of red and green apples

h
QLS Tek s e
»]E;’ S:2 Y en>23g |Be afbtr
A fast food restaurant sells two sizes of fries, small and large. On Fridaythey sold 81 fries
total. If 9 of the fries sold were small, what is the ratio of large fries sold to small fries
sold? snall [Wﬁﬂ gpall * \N?C simall - lasge
q 8|-94~72 ﬂ{l : 7,72- (: 3

@ At a pet store theratio of catsto dogs sold was 2 : 1. If there were 16 cats that were sold,

how many dogs were sold? C&C{’S :AOM: AA%

5) During aclass election the ratio of QUM for candidate A compared to
candidate B was 7 : 4. If candidate A received 21 votes, what is the combined amount of
votes candidate A and candidate B received?

S e

6) A video gamehad 35 levelsinit. If you beat 5 of the levels, what isthe ratio of levels left
to the levels that have been beaten?

7) Dave was playing checkers with afriend. The ratio of games Davewonwas 7 : 2. If Dave
won 35 games, how many games did his friend win?

8) A chessplayer won 72 of the games he played. If hisratio of winsto loseswas 9 : 4, how
many games did he play total?

9) A small school has 55 students. If 10 of the students are boys, what is the ratio of girlsto
boys?

10) A buffet offersranch or caesar dressing. The ratio of ranch dressing used to caesar dressing
used is 7 : 1. If the buffet uses 28 cases of ranch dressing, how many cases of caesar do
they use?

2\,;72.

Answers
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Reducing Ratios

Reduce each ratio to its lowest form.
Ex) 72:56

3)

6)

)
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15)

18)
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28:
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50:

Math

30

49

50
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4) 63:90

7) 20:45

10) 10:20

13) 36:4

16) 6:15

19) 63:45
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11)

14)
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20)

15:50
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30:54
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